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2 #vK Ermd *% *k kkkk kk ok *x 12 36 P
3o & fokkk kbkk ok kkkk kkk 16 20 P
4 {BiE RIE kdkkk ok kkkk k k kk 13 33 P
5 ikt ik * * % ok * kkkk 9 41
6 BT FHm Kk Kk ok E 1 46
1 2% E=x kkokk kokk  kkk kkkk kkkk 18 11 P
8 45 BHR 20 1P
9 5B —2 sokkk skkkk kkkk ok kk kkkk 19 T P
10 &R E skkokk kokkok kkkk kkkk kkkk 200 1 P
1 g #— 20 1P
12 &0 —8 sk kdokk kdokk ok ok okl 18 11 P
13 888 R stk tokkk okkdok kkkk kdekk 200 1 P
14 BiE If * Hok ol dokkk kk 12 36 P
15 f8@ =7 * * k% ok * kk k8 45
16 i B TRk Kk Kk Kk K % X 11 38
17 8R4t IE= ok dokk spk  dkk 11 38
18 INE5F  E# * ok ok ok K * 6 49
19 R EME dokk kk skekkk kkkk kkkk 17 14 P
20 B #— * 13 33 P
21 Zgtth  XHEK *k k k% * % 7 46
22 Bl &EF *k ok kkokk kkk  kk ok kkkk 17 14 P
23 FER  &hEh skkk Rk Kk okkkk kX 14 27 P
24 $H Si& sk okk ek kKK * 16 20 P
25 AEAT™H #H— * kk ok k ok k k kk kkkk 14 27 P
28 NpE H{E sk ok kk kekk ckkkk kkk 16 20 P
20 FHE 2B ok ok kkk okkdok okokk 14 27 P
30 EX JtiE sofokok kol fofokok dtokkok kkkk 200 1 P
31 Ak = sk ook ok k% skkx 15 25 P
32 FIER #oth sokkok ok kk ok kkekk kkkk 16 20 P
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M FHAE = ok 2 5]
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40 A 1% * 17 14P
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44 =t FH— sk ook kK 9 41
45 B BEkx $k Rkk  kkk Ok 9 41
46 £5AK A kkkk kk k ok ok kkkk k k15 25 P
47 * ok ckkekk kkk kekkk kkkk 17 14 P
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54 fEER & fk kk Xk * 6 49
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NO. ZE F £ 3 4 5 6 7 B¢
¥ H Waltz
11 1Bk #%— T 1 1 1 1 1.0
12 o —8 2 6 2 6 6 6.0
19 BBy =M 6 4 3 2 3 20
33 kg = 3 5 6 3 5 50
36 Rk thA 5 2 4 5 4 40
37 #HK EX 4 3 5 4 2 3.0
# B Tango
11 & #¥— 1 1 1 1 1 1.0
12 &3 — 3 6 2 6 6 6.0
19 RBEAx =B 6 5 3 2 2 20
33 ki = 2 4 5 3 5 45
36 FiE tHA 5 2 4 5 3 4.5
37 /K EXx 4 3 6 4 4 3.0
& H Fox trot
11 & 75— 1 1 1 1 1 1.0
12 Ed —8 3 6 2 5 6 6.0
19 A =B 5 5 3 2 3 20
33 ki = 2 4 5 3 5 40
36 {Fik A 4 2 4 6 2 3.0
37 #HK EX 6 3 6 4 4 50
2 B Quick step
11 1Bk #%— 1T 1 1 3 1 1.0
12 D —8 3 6 2 6 6 6.0
19 B =M 5 5 4 1 2 3.0
33 kg = 2 4 6 2 5 4.0
36 Rk thA 4 2 3 5 3 20
37 #HK EX 6 3 5 4 4 50
HRERER
No. E F £ W T F Q Af IEf
11 & #¥— 1.0 1.0 1.0 1.0 4.0 1.0
12 &3 — 6.0 6.0 6.0 6.0 24.0 6.0
19 A =B 2.0 2.0 2.0 3.0 9.0 20
33 ki = 5.0 4.5 4.0 40 17.5 5.0
36 Pk A 40 45 3.0 2.0 13.5 3.0
37 K EX 3.0 3.0 5.0 5.0 16.0 4.0
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3 11040060 B lu@O /& WA fF - ®RTE
4 11050144 B {R#iE RE BER (H B & 2 FiE
5 11074223 B Bt Mk heT ERF B 1%:E
6 11040059 B &0 FHix il BT B OH 1 %8
7 11070192 B E% E=% =0 MF B OB RTE
8 11030269 B *#& mrhZ £ D4l h: HE R B
9 11040056 B 1 —2z =% fiF B OE "o E
10 11070368 B F&R = FIER HE BOE EEREE
11 11157310 B {&fE #5— £H B8R h: E14 1.0 1.0 1.0 1.0
12 11045584 B i — ER PH - ¥£6{4 6.0 6.0 6.0 6.0
13 11054068 B B R B B BWOE EERB
14 11030187 C & oh =2E BF B OE 2%E
15 11147198 B #@A =F7 Hg fLF B OE 15E
16 11040013 B FiE B EE EBTF B & 15,8
17 11026822 B fr#f IE F HbEF B 1%:E
18 11040433 B /N&F Eft fIER HEF B OH 1 %8
19 11072320 B a8 = S EF BHOZ F2fL 20 20 2.0 3.0
20 11075728 B @& #H— HiE =RF O 2 FiE
21 11042967 B %Hih ik Fih FEEF B f 158
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